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2L A 58.7 BERE 58.7 1512 324 324 10 A LL
IZALA 18.3 BRE 1.3 — - - PR
IZALA = I 4.4 — 2,376 — 0] A M
ZIES5 1.3 BRE 0.2 1,728 1,728 1512 2l A M
ZIES5 E X 0.3 - 2,916 - 3 A M
=T 0.1 BERE 0.1 540 216 108 1
[E<E0LY 48.3 ERE 35.9 540 — 432 150 A 4
HTE 1.6 ERE 0.5 1512 1,296 864 4 A M
—EOH 6.8 ERE 3.8 1,836 1,080 1,080 4 A M
Fry 127.4 ERE 126.5 540 486 378 10 8
IE5NAZES 5.5 2 [ 1.4 — 2,430 - 6
hE 5.2 BRE 3.8 1,296 1,080 1,080 3l A LL
h= £ & 0.3 - 1,296 — 3 vay L
Ch¥ 1.6 i B 1.1 2,268 2,268 1,296 3 M
SE 0.1 BRE 0.1 1,080 864 216 1
125 3.6 ElG 2.1 3,240 1,890 1,890 5] vay
+)L1)— 15 2 0.6 3,240 — 2,808 0] A L
FTRINSHR 1.0 B X 0.8 162 162 157 0.1 M
Hh)o257— 0.3
JOyal)— 43
LAEX 27.1 BRE 0.1 1,080 1,080 540 1 A M
LA E & 22.2 1,296 864 432 0] A 12
FoFYA 1.4 BRE 1.0 1512 1,080 1,080 4f A L
=p5Y 215 BERE 18.0 1,901 864 810 5] A L
=p5Y ElG 35 1,188 — 1,080 5] A L
ANESSES) 4.0 =9 2.1 2,916 2,700 2,376 0] A 6
7y 2.3 BRE 0.1 — 1,188 — 4f A 3L
Y B X 2.0 3,564 2851 2,592 8
k< 10.9 BRE 6.5 1,188 1,134 864 4 B 3L
k< B A 4.2 1,404 — 1,296 A PEY) 20
I=kTh 6.5 BRE 43 130 86 86 02 A M
= = I 1.8 119 — 86 02 A M
E—<> 10.8 BERE 9.8 6,264 3,888 3,888 7.8 A M
ES5HACL 0.2 B A 0.1 — 4320 — 5 vay L
T35 0.2 BRE 0.1 216 167 162 0.1
IZH5Y 0.4 BRE 0.3 2,160 2,160 1,620 3l A M
[ZA5Y = I 0.1 1,814 — 1,620 3l A LL
SPVAITFA 0.3 BRE 0.3 — 2376 — 2l A
SPZAES 0.3 EES 0.1 1,188 756 756 1 vay L
E—X 0.3 BRE 0.3 1,080 1,080 756 1
ZTHEDH 0.5 BRE 0.5 1,296 1,296 972 1
MrAL& 2.3 E X 1.7 2,268 1,728 1,620 5 L
[ESARYONS 35.4 BRE 35.2 2,700 - 2,160 10
&N 0.1 = I 0.1 - 6,102 — 0] A LL
hLE 10.6 JtiEE 6.2 — 4,320 — 10 A 3L
f=FEh&E 420 BRE 9.5 1512 - 1,296 10
f=FEh&E = B 30.7 4,860 4,536 4536 20 Va9 L
IZAIZK 0.7 ol 0.6 — 4536 — 10 4L
5oELD 0.3 BRE 0.3 173 - 162 0.15
EBLEIN 0.4 zallES| 0.2 2,376 — 2,268 4
HELLV=IT 1.4 = 0.8 97 86 76 0.1 A L
ZDEET 4.1 E I 2.3 41 32 32 0.1 A
ZDEET BE X 1.6 41 27 26 0.1 A
LHL 1.3 2 [ 1.2 97 — 70 0.2
ESES T 473.7
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=) B X - 3,564 - 10 3L
HEDHMNA 3.0 BRE 2.8 2,700 — 2484 0] A L
HEDHMNA i B 0.2 - 1,404 — 10 L
[Fox< 0.1 BRE - - - PR
[Fox< K B 0.1 — 2,700 — 10 L
LEY 1.1 TA)H 1.0 3,240 — 2,160 17 140
INLUYVT 1.2 TA)H 1.2 7,128 3,888 3,240 17 88
L7y 0.1 T A)H 0.1 6,480 — 2,160 15 48
BR 0.6 EIR - - - PR
BR T 0.6 — 324 — 1
Lo 0.9 BRE 0.2 — 2,700 — 3| 7hva 3L
Lo B X 0.5 2,376 1,620 1,620 5 22
HmohrAED 2.3 B X 1.3 - 1,836 - 10 M
YATE 115
PEPE=IY 3.3 5 # 3.3 - 4,104 — 10] vy 36
AL 7.7 5 & 7.7 4860 3,996 3,996 100 M 36
% 0.2 5 & 0.2 5,400 3,888 3,240 10[ bty
Uh 0.1 BRE 0.1 — 410 — 025 A M
W5 5.0 BRE 2.8 378 302 302 025 A LL
AOVEF 2.9
7—JLA 0.8 BERE 0.8 3,888 3,456 3,456 4| 7hya 3L
FRhAO 2.1 E 5 0.9 2,808 — 2,700 5| 7hv1 6
FULIVAEL 7.0
ERRY 55 BE 55 - 6,480 — 13[ 7h¥2 L
INFF 12.6 EYEY 12.4 5,940 3,456 3,370 15
NAFyFTIL 2.8 EYEY 2.6 3,240 2916 2,376 10 8
FoA4T)LY 1.4 —oT 1.4 5,076 4752 4752 5.8 30
RERET 53.0




